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(ii) n is an integer.

  Write down all the values of n n 8
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Clip 95 Product of Prime Factors

1) List the first seven prime numbers.

2) Express the following number as the product of their prime factors:

a) 30 b) 60 c) 360 d) 220

3) Express the following number as the product of powers of their prime factors:

a) 24 b) 64 c) 192 d) 175

4) The number 96 can be written as 2m × n , where m and n are prime numbers.
Find the value of m and the value of n.

5) The number 75 can be written as 5x × y , where x and y are prime numbers.
Find the value of x and the value of y.

1) Find the Highest Common Factor (HCF) of each of these pairs of numbers.

a) 16 and 24 b) 21 and 28 c) 60 and 150 d) 96 and 108

2) Find the Least (or Lowest) Common Multiple (LCM) of each of these pairs of numbers.

a) 16 and 24 b) 21 and 28 c) 60 and 150 d) 96 and 108

3) a) Write 42 and 63 as products of their prime factors.

b) Work out the HCF of 42 and 63.

c) Work out the LCM of 42 and 63.

4) a) Write 240 and 1500 as products of their prime factors.

b) Work out the HCF of 240 and 1500.

c) Work out the LCM of 240 and 1500.

HCF and LCM© Mathswatch Clip 96





Chapter 1 Number
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1  Can the sum of two prime numbers be a prime number?
Explain your answer.
[Hint: Try adding some pairs of prime numbers.]

2  The number 48 can be written in the form 2n  3.
Find the value of n.

3  The number 84 can be written in the form 2n  m  p where n, m and p are prime numbers. 
Find the values of n, m and p.

4  Find the HCF and LCM of the following pairs of numbers.
a 6 and 8 b 5 and 10 c 4 and 10 d 6 and 18

5  a Write 24 and 60 as products of their prime factors.
b Find the HCF of 24 and 60. c Find the LCM of 24 and 60.

6  a Write 72 and 120 as products of their prime factors.
b Find the HCF of 72 and 120. c Find the LCM of 72 and 120.

7  Find the HCF and LCM of the following pairs of numbers.
a 36 and 90 b 54 and 72 c 60 and 96 d 144 and 180

8  x  2  32  5 , y  23  3  7
a Find the HCF of x and y. b Find the LCM of x and y.

9  m  24  32  5  7, n  23  53

a Find the HCF of m and n. b Find the LCM of m and n.

10  Bertrand’s theorem states that ‘Between any two numbers n and 2n, there always lies at least one 
prime number, providing n is bigger than 1’. Show that Bertrand’s theorem is true: 
a for n  10 b for n  20 c for n  34.

11  A ship is at anchor between two lighthouses L and H.
The light from L shines on the ship every 30 seconds.
The light from H shines on the ship every 40 seconds.
Both lights started at the same moment.
How often do both lights shine on the ship at once?

12  Burgers come in boxes of 8.
Buns come in packets of 6.
What is the smallest number of boxes of burgers and packets of buns that Mrs Moore must buy if she 
wants to ensure that there is a bun for every burger?

13  Sally says that if you multiply two prime numbers then you will always get an odd number. 
Is Sally correct? Give a reason for your answer.

*

*

Exercise 1A
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Questions in this chapter are targeted at the grades indicated.
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Highest Common Factor (HCF) and Lowest Common Multiple (LCM) Worksheet 

1. Find the HCF of  

a. 18 and 12 
b. 14 and 70 
c. 108 and 78 
d. 256 and 96 
e. 42 and 140 
f. 390 and 26 
g. 380 and 38 
h. 18 and 8 
i. 210 and 100 

 
2. Find the LCM of 

a. 6 and 9 
b. 24 and 32 
c. 12 and 18 
d. 21 and 70 
e. 38 and 380 
f. 39 and 260 
g. 128 and 48 
h. 54 and 78 
i. 28 and 140 

 
3. What is 250 written in index form? 

 
4. Find the integers a, b and c when 300 = 2a x 3b x 5c 

 
5. There are 2 people, A and B, running in a circle.  A completes one revolution in 4 

minutes and B completes one revolution in 7 minutes. They start running together, 
after how much time will A and B meet at the starting point? 
 

6. Two lighthouses can be seen from the top of a hill. 
The first flashes once every 8 seconds, and the other flashes once every 15 seconds.  
If they flash at the same time, how long will it be until they flash at the same time 
again? 
 

7. Billy wants to cut identical squares as big as he can from a piece of paper 168 mm by 
196 mm. What is the length of each square? 

 






